Cereal Box Problem

A cereal manufacturer includes one of six different gift coupons in each box

of a cereal. These coupons can be exchanged for a gift when a set of six -
coupons has been collected. What is the expected number of boxes of cereal
you will have to buy before you will attain a complete set of six coupons?
Assume that the distribution of the coupons is of equal frequency and one - -

. box of cereal is mdependent of the others.

Each ‘person do at least 5 trlals. Use randInt(l 6)
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Do Box Plot L;,L, Median Mean Mode
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